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Directions (1-5): Study the following information carefully to answer the given questions.

Eight persons A, B, C, D, E, F, G, H are sitting around a circular table. Four of them like different colours and
four of them like different fruits. H like Green and sit second to the left of the one who like Litchi. Both of
the immediate neighbor of the one who like Litchi do not like Fruits. E sits third to the right of A and both
of them do not like color. G likes Mango. Both the immediate neighbors of C like Fruit. E faces D. B faces the
one who likes Blue and is not an immediate neighbor of A. E does not like Apple and D likes Red colour. F
does not like Yellow. B does not like Litchi and is neither immediate neighbor of E nor A. E likes banana. B
doesn’t like apple.

Q1. Who among the following like Yellow?
(a)B

(b) E

(OF

(d) D

(e) None of these

Q2. Who among the following faces the one who likes Mango?
(a)B

(b) E

(OF

(d)D

(e) None of these

Q3. Who sits second to the right of the one who like Red?
(@C

(b) E ¥, "A publications
() F
(@)D LIC AAO 2019
(e) None of these PRELIMS PRACTICE BOOK
20 MOCKS
Q4. Four of the following are alike in a certain way so form a Based on Latest Pattern
group, which of the following does not belong to that group? eBOOK 1900+
@) C Do
English Printed Edition Includes
(b) B @ 17 LIC AAO Practice Mock Papers
# 2 LIC AAO Previous Years' Papers 2013-2016
(C) F @ 1 NIACL AO Prelims 2018 (Memory Based)
# Detailed Solutions of Reasoning, Quant & English
(d)D
(e)H

Olmnl\‘.&‘rs 3 v
A U o
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Q5. The one who sits second to the left of B likes which of the following?
(a) Litchi

(b) Banana

(c) Blue

(d) Apple

(e) None of these

Q6. In a number 8175398 if all the digits are arranged in descending order from the right end and
then how many digit will retain their original position?

(@)1

(b) 2

(c)3

(d) none

(e) none of these

Q7. In a number 8875398 if 1 is subtracted from every digit of the number and then how many
digit is a multiple of 2?

(@)1

(b) 2

(c)3

(d) none

(e) none of these

Q8. How many such pair of numbers are there in the given number “46579739” (Both backward
and forward) same as far as according to numeric series?

(a) One

(b) Two

(c) Three

(d) More than three

(e) None of these.

Directions (9-10): Study the following information and answer the questions given below:

Each of the five friends P, Q, R, S and T get different ranks in an exam. T and P get better ranks than Q. S
gets better rank than only R. P is not the topper.

Q9. Who gets the lowest rank?
(a) P

(b)Q

(AR

(d)S

(e) None of these
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Q10.If T is related to Q, and P is related to S, then Q is related to whom?
(a) P

(b)Q

(AR

(d)S

(e) None of these

Directions (11-15): In each question below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance
with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements, disregarding commonly known facts.

Q11. Statements:

All sugar is salt.

Some cup are stick.

No stick is sugar.
Conclusions:

L. All cup are salt is a possibility.
II. Some stick are salt.
(a) Only I follows

(b) Both I and II follow
(c) Only II follows

(d) None follows

(e) None of these

Q12. Statements:
Some crow is bat.
Some bat are cat.

All bat are fly.
Conclusions:

I. Some fly are not cat.
I1. Some crow can be cat. By Adda247 Faculties
(a) Only I follows

(b) Both I and II follow @SBI PRIME 2019

(c) Only II follows

(d) Either I or II follows (P0+CLERK)

(e) None follows with Video Solutions
175 + TOTAL TESTS
Q13. Statements:
} == B0 Full Length Mocks
All bottle are Jug. == 15 + Previous Years Papers
No jug is mug. == B0 Section Wise Sets

== 40 Topic Wise sets | eBooks

No mug are cap.
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Conclusions:

I. Some bottle are cap.

II. Some cap are not bottle.
(a) Only II follows

(b) Both I and II follow

(c) Only I follows

(d) Either I or II follows
(e) None follows

Q14. Statements:

All states are city.

Some country are world.
No world is state.
Conclusions:

I. Some city are state.

IL. All state are country is a possibility.

(a) Only I follows

(b) None follows

(c) Both I and II follow
(d) Only II follows

(e) None of these

Q15. Statements:
Some bat are ball.
Some pen are mouse.
Some ball are pen.
Conclusions:

I. Some bat are pen.

II. Some ball are mouse.
(a) Only II follows

(b) Both I and II follow
(c) None follows

(d) Either I or II follows
(e) None of these

Directions (16-20): Each of the questions below consist of a question and two statements numbered
Iand Il given below it. You have to decide whether the data provided in the statements are sufficient
to answer the question. Read both the statements and give answer.

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement Il alone

are not sufficient to answer the question.

(b) if the data in statement Il alone are sufficient to answer the question, while the data in statement I alone

are not sufficient to answer the question.

(c) if the data either in statement I alone or in statement Il alone are sufficient to answer the question.
(d) if the data in both statement I and II together are not sufficient to answer the question.
(e) if the data in both statement I and II together are necessary to answer the question.
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Q16. On which date Siddharth leaves for Jaunpur in January month?

I. Siddharth takes leave for one week from his office in January month starting from 5t January.

II. Siddharth mother correctly remembers that Siddharth leaves for Jaunpur after 5t but before 7th
January..

Q17. Five persons A, B, C, D and E are sitting around a circular table with all of them facing towards
the center. Who sits immediate left of B ?

I. A sits third to right of B. C sits third to right of A.

II. B sits immediate left of C who sits second to left of A. D does not sit adjacent to B.

Q18. What is code of “called” ?

L. In certain language, “ meeting had been called” is written as “ sx vt bv mp” and “ they called every time”
is written as “bv ct fajl“.

II. “you called every hour” is written as “ ca bv jl ma”.

Q19. Point S is in which direction with respect to point Y?

I. Point S is in north of Point X. Point X is in east of Point T. Point T is in north of point V which is west of
Point Y.

IL. Point Y is west of Point X. Point X is in west of Point T which is north of V. Point V is east of Point S which
is south of Point X .

Q20. Five persons A, B, C, D and E are of different weight . Who is heaviest ?
L. B is heavier than C and D but lighter than E who is not the heaviest.
IL. E is heavier than B and C but lighter than A.

Directions (21-25): Each of the questions below consist of a question and two statements numbered
Iand Il given below it. You have to decide whether the data provided in the statements are sufficient
to answer the question. Read both the statements and give answer.

(a) if the data in statement [ alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient to answer the question.

(b) if the data in statement Il alone are sufficient to answer the question, while the data in statement I alone
are not sufficient to answer the question.

(c) if the data either in statement I alone or in statement Il alone are sufficient to answer the question.
(d) if the data in both statement I and II together are not sufficient to

answer the question. @ SBI PO 2019

(e) if the data in both statement I and II together are necessary to ED G E

Online Test Series | Books | eBooks

answer the question.

Q21.Is P is maternal aunt of M? e
I. Ais son of P. A is brother of B. B is daughter of C. F is sister of C. M is e Printed Books
daughter of F.
IL. D is father of M. F is mother of M. K is brother of F. K has two children @ Total Tests

J and R. P is married to K. @ eBooks
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Q22. Among V, W, X, Y and Z seated in a straight line facing south, who sits at the middle?
I. W sits second to right of V. Z is not immediate neighbor of Y.
II. V sits third to left of Y. W sits on the immediate right of X.

Q23. Who amongA, B, C, D, E and F is the shortest?
I. Cis taller than A and F. B is shorter than only E and D.
II. A is shorter than B and C. A is not shortest.

Q24.How is B related to E?
I. M and Z are brothers of B and E is wife of Z .
II. D is mother of U and is wife of B.

Q25. Among V,W,X,Y and Z, seated in a straight line facing south, who sits at the middle of the row?
I. W sits second to right of V. Z is not immediate neighbor of Y.
IL. V sits third to left of Y. W sits on the immediate right of X. Z sits second to left of X

Directions (26-30): Each of the following questions below consists of a question and two statements
numbered I and II given below it. You have to decide whether the data provided in the statements
are sufficient to answer the question. Read both the statements and give answer.

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

(b) if the data in statement Il alone are sufficient to answer the question, while the data in statement I alone
are not sufficient to answer the question.

(c) if the data in either in statement I alone or in statement Il alone are sufficient to answer the question.
(d) if the data in both the statements [ and II together are not sufficient to answer the question.

(e) if the data in both the statements I and II are together necessary to answer the question.

Q26. What does ‘Za’ mean in the code language?
I. ‘Pe Bo Za’ means ‘Look at me’ and ‘Bo Se Pe Ki’ means ‘don’t look at him’ in that code language.
II. ‘'Ka Ta Ne Za’ means ‘take me and go’ and ‘Li Wa Si Za’ means ‘either me or you’ in that code language.

Q27. How is Sarita related to Rajesh?
I. Soni, the cousin of Rajesh, is the niece of Sarita.
II. Swarna is sister of Sarita who is the wife of Om. Om is the father of Rajesh.

Q28. What is Mohan’s rank in the class of 40?
I. Samir, who is 9th from the top in the class is above Shobhit by 12 ranks who is below Mohan by 5 ranks.
IL. Nilesh, who is between Mohan and Sumit, is 15t from the bottom.

Q29. Point Y is in which direction with respect to point X?
I. Point A is east of point B and north of point X. Point Y is north-west of point A.
IL. Point X is east of point B and north of point A. Point Y is north of point A.
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Q30. Who among A, B, C, D and E type fastest?

&
O
I. B type faster than E but he is not the fastest among them. d,é) LIC AAO 2019
IL. C types faster than D and E. C does not type as fast as A and B. & PRIME PACKAGE

GENERALIST
Directions (31-35): Answer these questions based on the 75+ TOTAL TESTS
following information.

© 25 Full Length Mocks
* 2 Previous Years' Papers
In a certain code: » 30 Section wise Practice Sets

“jeans pants custody rat” is coded as - “ ne at so mq” * 20 Topic wise Practice Sets
* [nsurance Knowledge eBooks

“month custody rat water” is code as - “mq re so gh”
VALIDITY - 3 MONTHS

“month polymer plants father ” is coded as - “gh yl ph hr”
“plants pants custody polymer ” is coded as - “ ph yl so at”

Q31. What will be the code for “polymer”?
(@) mq

(b) yl

(c) so

(d) can’t be determined

(e) gh

Q32. What may be the code for “jeans polymer pants plants”?
(a) neyl at mq

(b) re yl ph ne

(c) atylso gh

(d) neyl at tx

(e) None of these

Q33. What will be the code for “pants”?
(a) mq

(b) y1

(c) so

(d) none of these

(e) gh

Q34. What may be the code for “polymer plants rat custody”?
(a) neyl at mq

(b) yl ph mq so

(c) atylsogh

(d) can’t be determined

(e) None of these
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Q35. What may be the code for “father”?
(a) ne

(b) re

(c) gh

(d) yl

(e) None of these

Q36. If D is daughter of E who is husband of F. D is married to B whose father is A. H is daughter of
G who is maternal uncle of C who is daughter of F. If it is given that C is married to X, then how is X
related to E?

(a) Brother

(b) Sister

(c) Brother in law

(d) Son in law

(e) Daughter in law

Directions (37-39): Study the following information carefully and answer the given questions:

P,Q,R S T,U,V,W, Xand Y are ten members of the family. P is married to Y. Q is daughter of X. Y and X are
brothers. T is sister of Q. U is mother-in-law of P. X is the son of V. R is the mother of T. S is the son of R. W
is the mother-in-law of Y.

Q37.How is P related to X?
(a) Sister

(b)Mother

(c) Father

(d) Grand Mother

(e) Sister in law

Q38. How is S related to R?
(a) Grandfather

(b) Son

(c) Grandmother By Adda247 Faculties

@ bather SBI CLERK 2019
PRIME

Q39. How is U related to T?

(a) Grandfather With Video Solutions
(b) Uncle 85+ Total Tests

(c) Grandmother v~ 30 Full Length Mocks

(d) Mother v 5+ Previous Yeas' Papers

(e) Father v 30 Section wise Sets

v 20 Topic wise Test | eBooks
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Q40.If ‘A x D’ mean ‘D is the sister of A’, ‘A + D’ means ‘D is the daughter of A’ and ‘A + D’ means ‘D is
the mother of A’, then how will ‘N and L both are sister’ be denoted?

(aM+LxN

(b)M+L+N

(c)LxN=+M

(A)NxL+M

(e) None of these

Direction (41-45): Study the following information carefully and answer the given questions.

Eight-person K, L, M, N, O, P, Q, R are sitting around a square table. All of them are facing the center. Two
persons sit on each side. Also each of them like different fruit Apple, Banana, Guava, Grapes, Papaya,
Orange, Mango, Litchi. O faces Q. The one who likes Apple sits second to the left of M. The one who likes
Mango and Litchi are immediate neighbours of each other. The one who like Guava sits third to the left of
Q. M is not an immediate neighbour of both O and Q. Also neither O nor Q like Apple. N sits second to the
right of K and likes Apple. P is not an immediate neighbour of Q. The one who sits third to the right of P
likes Grapes. L is not an immediate neighbour of K and does not like Papaya. The one who likes Banana
faces the one who likes Litchi. M does not like Litchi.

Q41. Who among the following like Litchi?
(@) N

(b)O

(AR

(d)L

(e) None of these

Q42. Who among the following faces N?
(a) M

(b) O

(AR

(d)L

(e) None of these

Q43. Who among the following sits immediate left of the one who likes Papaya?
(a) M

(b)K

(AR

(d)L

(e) None of these
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Q44. Which fruit is liked by the one who sits second to the left of L?
(a) Mango

(b) Grapes

(c) Guava

(d) Apple

(e) None of these

Q45. Who among the following sit second to the right of R?
(a)N

(b)O

(©)Q

(dL

(e) None of these

Directions (46-50): Each of the questions below consists of a question and two statements
numbered I and II given below it. You have to decide whether the data provided in the statements
are sufficient to answer the question. Read both the statements and give answer.

(a) if the data in statement [ alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient to answer the question.

(b) if the data in statement Il alone are sufficient to answer the question, while the data in statement [ alone
are not sufficient to answer the question.

(c) if the data either in statement I alone or in statement Il alone are sufficient to answer the question.

(d) if the data given in both statements [ and II together are not sufficient to answer the question.

(e) if the data in both statements I and II together are necessary to answer the question.

Q46. Point B is in which direction with respect to Point A?
I. A is to the east of C, which is to the north of E. B is to the South-west of E.
II. D is to the east of B and to the south-east of A.

Q47.How is Vrelated to J?
I. A is mother of K, and B is daughter of V.
IL. B is daughter of K who is sister of ]. A adda

publications

Q48. Five friends ], K, L, M and N sit on the row facing towards
north direction. What is the position M with respect to K?

20+ THEEE f3h

I. Kis in the middle from either side and M is at the extreme end of the %)

row. ifer=g a1

IL. ] sits adjacent to both K and N. ] does not sit left of the K. e et o st
Q49. Who among A, B, C, D, E and F is the tallest? . 2100
I. D and C are taller than A but both shorter than F. B is taller than E. s bbb S
IL. F is shorter than E but taller than B and D. while A is not tallest. 15 @
Q50. Jai ranks 10th in the class. How many students are there in & "’“"’:ﬁ:‘:’:‘;““"’"

the class? v

I. His class-friend got 58th rank which is the last.
IL. Jai’s rank from the last (other end) is 49th.
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